=ik 4 FEF T8 FERH | —RERR | HELZE RS |HEEE | —BRER — SR8 FE | —RER [HEZH | RESH [#ess | — e | {ESE
DR B 240 24 17 0 17 0.71 +7 223 235 -1 234 +0 234 1.05
B 35 200 20 10 0 10 0.50 +10 190 198 1 199 +0 199 1.05
SETE RAEEER 113 22 32 1 33 1.50 +0 91 98 0 98] +11 109 1.20
g SEEV 80 32 29 -1 28 0.88 +4 52 61 3 64 +0 64 1.23
TEHL v 14 80 32 32 -2 30 0.94 +2 50 75 -6 69 +0 69 1.38

M 80 16 18 0 18 1.13 +0 64 65 2 67 +2 69 1.08

ST %1%4‘/%?7 40 8 1 0 1 0.13 +7 39 36 3 39 +0 39 1.00
7394k 40 8 6 0 6 0.75 +2 34 46 —4 42 +0 42 1.24

EULE 40 8 1 0 1 0.13 +7 39 38 1 39 +0 39 1.00

=47 E..# ~ T 200 40 7 0 7 0.18 +33 193 124 0 124 +0 124 0.64
TR 40 8 0 0 0 0.00 +8 40 34 0 34 +0 34 0.85

5 AR A - 40 8 2 0 2 0.25 +6 38 26 0 26 +0 26 0.68
= e 40 8 4 0 4 0.50 +4 36 29 0 29 +0 29 0.81
By /M 40 8 3 0 3 0.38 +5 37 15 0 15 +0 15 0.41

R A5 40 20 1 0 1 0.05 +19 39 23 —1 22 +0 22 0.56
S i PEFEFN 40 14 0 0 0 0.00 +14 40 18 0 18 +0 18 0.45
= 9472-7 4143 40 14 1 0 1 0.07 +13 39 18 0 18 +0 18 0.46
[EEe A5 40 8 0 0 0 0.00 +8 40 11 0 11 +0 11 0.28
SHAE |Ma 160 32 15 0 15 0.47 +17 145 93 1 94 +0 94 0.65
JI A A5 40 20 11 0 11 0.55 +9 29 13 0 13 +0 13 0.45
S 40 8 0 0 0 0.00 +8 40 34 0 34 +0 34 0.85

DB | RS 40 8 1 0 1 0.13 +7 39 4 0 4 +0 4 0.10
AT 40 8 3 0 3 0.38 +5 37 23 1 24 +0 24 0.65

EIE A5 80 32 3 0 3 0.09 +29 77 15 1 16 +0 16 0.21
D A5 70 7 2 0 2 0.29 +5 68 16 -1 15 +0 15 0.22
HA A58 40 8 6 0 6 0.75 +2 34 33 0 33 +0 33 0.97




